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The Big Picture

• Why are some countries less developed 
than others?

• What consequences can poor 
development have?

• How can LIC/NEE countries become 
better developed?

• How is tourism helping Jamaica to 
develop?

• What is the industrial structure of Nigeria 
like?

• What impact has Shell Oil had in Nigeria?

• What trading and political partnerships 
does Nigeria have?

• How has aid helped Nigeria to develop?

• How has development affected the 
environment and the quality of life in 
Nigeria?

Which factors link to today’s learning?
Social / Economic / Environmental

Here are some key words from this 
topic. Can you add anymore? 

CEIAG Link:  For this topic we can make links 
to a variety of professions:
Economist
Aid worker
Politician
Hotel manager
CEO
If you are interested in the above careers, 
don’t forget you can do some research and 
speak to Mrs Ackroyd.

Development 
The progress of a country in terms 
of economic growth, the use of 
technology and human welfare.

Economy

the state of a country or region in 
terms of the production and 
consumption of goods and 

services and the supply of money.

aid
financial or material help given to 
a country or area in need to help it 
develop or improve peoples’ lives.

industrial 
structure

the percentage of people working 
in each job type.

Quality of life
the standard of health, comfort, 
and happiness experienced by an 

individual or group.

Gross 
National 

Income per 
capita 

The amount of money generated 
by a country (domestic and 

overseas) divided by the number 
of people in the population.

• The DTM shows how birth rates and death rates affect population growth over 
time.  

• This is influenced by development.  
• Different countries pass through the stages in the model at different times and 
at different speeds.  

• In the early stages of the model birth rates and death rates are high, but they 
both decline as a country becomes more developed over time.  

• If DR is higher than BR there is population decrease, if BR is higher than DR, the 
population will increase.

The 3 causes of uneven development:

physical
natural characteristics 
or events.

economic
characteristics of the 
country’s wealth and 
how it makes money.

historical
events that have 
happened in the 
country’s past.

Tourism 
What is it? Countries such as Jamaica, with tropical beaches, spectacular 
landscapes or abundant wildlife encourage tourists from overseas to visit

How does it support development?  Big hotel chains invest in the country 
and many jobs are created in the leisure and tourism sector.  Infrastructure is 
developed (e.g. ports and airports) to support the tourists, but local people 
also benefit.  Increases in tax revenues can be invested in healthcare and 
education.

Rapid 
development in 
Nigeria means its 
industrial structure 
is changing. 

Nigeria is found 
in the continent 
of Africa
It is located in 
the west of 
Africa.


